EXPLODED VIEW FOR REPLACEMENT PARTS (MODERN STYLE DOORS -

EP5SBO

DETAIL C

24



PARTS LIST (MODERN STYLE DOORS - FP5SBO)

# Item Description Qty
1 SE60032 DOUBLE DOOR KIT WITH FRAME AND FIRE SCREEN 1
2 AC09194 BLACK WOODEN DOOR HANDLE (2 PER PACKAGE) 2
3 30244 WOOD SCREW #8 X 3/4" PAN HEAD 8
4 PL60760 DOOR RETAINER 2
5 30559 FLAT WASHER 1/2" OD X 17/64" ID X 1/32" 2
6 99999 BUILD TO ORDER 1
7 99999 BUILD TO ORDER 1
8 VA2051J CERAMIC GLASS 3/16" X 14 7/8" X 17 1/8" 2
9 30185 17/64" "AA" TYPE WASHER 12
10 | SE60095 RH SIDE MECHE DOOR ASSEMBLY 1
11 | SE60093 LH SIDE MECHE DOOR ASSEMBLY 1
12 | PL59788 SCREEN DOOR CLIP 1
13 |30158 BLACK METAL SCREW #8 X 1/2" PAN QUADREX TYPE "A" 2
14 | 30084 NUT 1/4-20 X 1/2" GRADE 5 8
15 | VA4400 THERMAL ACTIVATION BLOWER WITH VARIABLE SPEED CONTROL 1
16 | 44080 RHEOSTAT WITH NUT 1
17 | 44087 RHEOSTAT NUT 1
18 |44085 RHEOSTAT KNOB 1
19 |44091 ROCKER SWITCH 2 POSITION MSR-8 1
20 | 44122 DOUBLE CAGE BLOWER 176 CFM 1
21 | 45338 FP5 INSTRUCTION MANUAL 1
22 | PL59765 4" ADAPTER FOR FRESH AIR INTAKE KIT 1
23 | PL59768 SPACER 2
24 | VA2FEO3 NARROW OVERLAP - ANTIQUE BRASS 2
24 | VA2FE39 NARROW OVERLAP - BRUSHED NICKEL 2
24 | VA2FLO6 LARGE OVERLAP - PAINTED BLACK 2
24 | VA2FEO6 NARROW OVERLAP - PAINTED BLACK 2
25 | SE60079 BOTTOM OR TOP LOUVER ASSEMBLY 4
26 [30472 SPRING 1/2" OUTSIDE DIA. X 3"L 8
27 | SE60534 FP5 SINGLE FIRESCREEN DOOR WITH FRAME 1
28 | AC06710 GLUE AND 3/8" X 7" WHITE DOOR GASKET KIT 2
29 | SE60595 FIRESCREEN DOOR 1
30 | SE60593 FP5 FIX DOOR ASSEMBLY 1
31 | PL60597 GLASS RETAINER 2
32 | VA5051J CERAMIC GLASS 3/16" X 32 3/8" X 18 1/4™ 1
33 | AC06400 3/4" (FLAT) X 6' BLACK SELF-ADHESIVE GLASS GASKET KIT 2
34 |VA5071-5 FRONT REFRACTORY BRICK 2
35 |[VA5071-4 FLOOR REFRACTORY BRICK 1
36 |VA5071-2 RIGHT OR LEFT SIDE REFRACTORY BRICK 1
37 | PL53145 REFRACTORY RETAINER 2
38 | AC02200 19 1/2" X 14 1/4" X 6 3/4" UNIVERSAL FIREPLACE GRATE 1
39 | PL59815 EXHAUST DAMPER ROD 1
40 | SE59813 EXHAUST DAMPER ASSEMBLY 1
41 | 30084 NUT 1/4-20 X 1/2" GRADE 5 2

25




EXPLODED VIEW FOR REPLACEMENT PARTS (MODERN STYLE FOLDING

DOORS - FP5DBO)

DETAIL C

26



PARTS LIST (MODERN STYLE FOLDING DOORS - FPSDBO)

# Item Description Qty
1 SE60034 FOLDABLE DOUBLE DOOR KIT WITH FRAME AND FIRE SCREEN 1
2 AC09194 BLACK WOODEN DOOR HANDLE (2 PER PACKAGE) 2
3 30244 WOOD SCREW #8 X 3/4" PAN HEAD 8
4 PL60760 DOOR RETAINER 2
5 30559 FLAT WASHER 1/2" OD X 17/64" ID X 1/32" 2
6 99999 BUILD TO ORDER 1
7 99999 BUILD TO ORDER 1
8 VA2051K CERAMIC GLASS 3/16" X 7 3/8" X 17 1/8" 4
9 30185 17/64" "AA" TYPE WASHER 12
10 SE60095 RH SIDE MECHE DOOR ASSEMBLY 1
11 SE60093 LH SIDE MECHE DOOR ASSEMBLY 1
12 PL59788 SCREEN DOOR CLIP 1
13 30158 BLACK METAL SCREW #8 X 1/2" PAN QUADREX TYPE "A" 2
14 30084 NUT 1/4-20 X 1/2" GRADE 5 8
15 VA4400 THERMAL ACTIVATION BLOWER WITH VARIABLE SPEED CONTROL 1
16 44080 RHEOSTAT WITH NUT 1
17 44087 RHEOSTAT NUT 1
18 44085 RHEOSTAT KNOB 1
19 44091 ROCKER SWITCH 2 POSITION MSR-8 1
20 44122 DOUBLE CAGE BLOWER 176 CFM 1
21 45338 FP5 INSTRUCTION MANUAL 1
22 PL59765 4" ADAPTER FOR FRESH AIR INTAKE KIT 1
23 PL59768 SPACER 2
24 VA2FEO6 NARROW OVERLAP - PAINTED BLACK 2
24 VA2FLO6 LARGE OVERLAP - PAINTED BLACK 2
24 VA2FE39 NARROW OVERLAP - BRUSHED NICKEL 2
24 VA2FEO3 NARROW OVERLAP - ANTIQUE BRASS 2
25 SE60079 BOTTOM OR TOP LOUVER ASSEMBLY 4
26 30472 SPRING 1/2" OUTSIDE DIA. X 3"L 8
27 SE60534 FP5 SINGLE FIRESCREEN DOOR WITH FRAME 1
28 AC06710 GLUE AND 3/8" X 7' WHITE DOOR GASKET KIT 2
29 SE60595 FIRESCREEN DOOR 1
30 SE60593 FP5 FIX DOOR ASSEMBLY 1
31 PL60597 GLASS RETAINER 2
32 VA5051) CERAMIC GLASS 3/16" X 323/8" X 18 1/4"" 1
33 AC06400 3/4" (FLAT) X 6' BLACK SELF-ADHESIVE GLASS GASKET KIT 2
34 VA5071-5 FRONT REFRACTORY BRICK 2
35 VA5071-4 FLOOR REFRACTORY BRICK 1
36 VA5071-2 RIGHT OR LEFT SIDE REFRACTORY BRICK 1
37 PL53145 REFRACTORY RETAINER 2
38 AC02200 191/2" X 14 1/4" X 6 3/4" UNIVERSAL FIREPLACE GRATE 1
39 PL59815 EXHAUST DAMPER ROD 1
40 SE59813 EXHAUST DAMPER ASSEMBLY 1
41 30084 NUT 1/4-20 X 1/2" GRADE 5 2

27




